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What do we mean by macroeconomic stability o
balance? What has been India’s record on externa]
balance from 1991 to 20167

e il forar a1 ¥qe ¥ TR =W A 22 1991 ¥
2016 T 0 FIAT W R H RS = @ 27

What have been the drivers of transformation in
agriculture and allied activities since 19912 Does this
also imply a transformation of the rural sector?
Explain.
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(2) What are the main arguments in favour of land
reforms? What are the factors which affect the

success of land reforms?
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(b) What are the areas of concern and the needed
corrections required with respect to irrigation in

the Indian agriculture?
wrcd ¥ B 3 wof ¥ o 3 @ A ok
ST qUN BT H B

The trajectory of the industrial sector of India since
independence has been quite sluggish in terms of its
contribution to the Gross Domestic Product. Evaluate
it.

AT & qeC T IRG B FAIS ST 1 qAIEH e F
IR & AW ¥ HIA A=A @ R | GHR AR

What are the major arguments in favour of Foreign
Direct Investment (FDI) for a country? Flow has India
benefited from FDI after substantially opening up the
economy to FDI?
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Explain the challenges of the services-led growth of
the Indian Economy citing the role of liberalisation in

this sector,
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7. “There are constraints on public, household and
corporate balance sheets, abandoning export
orientation is akin to killing the only goose that can,
lay eggs.” Using the above statement, explain whether
the trade policy adopted in the Indian economy is

warranted and will it work in the future?
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8. Write short notes on any two of the following :
fraffag % @ fel @t W aferm fewott foRag
(a) Inflation Targeting
AZTPHIT ol Aferd el

(b) Low skill manufacturing exports

FH e fafwior fata

(c) Privatisation theory
- -

(d) Servicification trends in Indian Manufacturing
wreda fafeior % Jareeor @ g
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Write your Roll No. on the top immediately on receipt of this question paper.
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The question paper contains two sections A and B. Answer 5 questions attempting at
least two questions from each Section.
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. All questions carry equal marks. Ueshbandnu.College Library
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Answers may be written either in English or Hindi, but the medium should be used
throughout the pager.
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SECTION-A

. “In spite of the fact that skill and knowledge possessed by the Indian artisans and merchants

were far closer to those of their counterparts in Europe in the early nineteenth century,

Indian artisans and merchants did not grow because of lack of state support.” How far do
you agree with this statement? Explain.
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What were the reasons for commercialization of Indian agriculture in the 191 century?
Critically examine the effects of commercialization on Indian agriculture. :
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«prior to 1921, the growth of populanon was not only slow but sp oW far dg o
| agree with this statement? Explain.

"1921 3 qEa, SEE @ g 7 daw i i Sfep fEege 4t o 30 Py 9 iy,
FgHd g7eaTeH] X |

SECTION-B

. “The debate on de-industrialization in nineteenth century India needs to be broadened bot
in terms of issues covered and the time period it covers.” Discuss.
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. Contrast and compare the characteristics of the industrial labour in the cotton mills of
Bombay and steel industry i‘n Jamshedpur, in colonial India during the 20" century.
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mﬁmwﬁ%ﬂwﬁmwaﬁvﬁﬁl

. Critically examine Washbrook’s contention that-the East India Company government of
India, followed very regressive economic strategies that hurt the Indian economy and also
failed to provide any benefits to British (and Indian) business interests. And yet, the British

parliament did not deem it necessary to stop the East India Company, for quite rational
reasons.
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. “Construction of railways in India from 1850 onwards had far-reaching consequences on

economic, political and social conditions in the country.” How far do you agree with the
above statement? Discuss.

"1850 o §TE I HIRd H ¥erd & F{0 &1 321 7 onfdfep, roriifaes oiik ammfores uftfRufadi
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. “Famine visited India regularly, peasants perished and commissions were appointed-”
Comment on the statement.

" URd H 3Tl Fraftd T oy, f5am saie gT ok smai fged o muir 3q oA ®
feuqoft w3 |
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